Year 5 Homework, Summer Term Week 2 1

/ Maths: Speedy Six ’

7x4 =

453 - 32

235 + 246 =

65 x 10

What is V2 of 16?

Colour in 45% of the grid.
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Quick Comprehension: Complete the comprehension. Children should allow themselves one minute to
read the text, and five/ten minutes to answer the questions. Some of the questions are quite tricky, so
don’t worry if you have to talk them through with an adult.
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/ Spellings \

wrap
W ri St Addition Word Problem Challenge Cards oo

Rashid is making party bags and needs 80 sweets

WrOn in total. He already has 57 sweets and mum buys
g a bag of 14 sweets.

Optional Maths Extension:

One bonus house point available

Wreck How many sweets does he have now?

How many more sweets does he need to finish his

W re n party bags?
write
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Homework is due in on 3™ May




